Problem 1

{11,182532 } ®Aseq 1 [By
Next three terms  { 11,18,25,32,39,46,53 } =
Note: 3225 =7 1 1 1
25—18 =7
2 18
18—11 =7
: : : : : 3 25
This means that this sequence can be written as an arithmetic
sequence 4 32
d=7 5
a,=11 6
Arithmetic Sequence a.=a: +(n-1)d 7
=11+(n-1)(7) 3
Explicit Form of this Sequence -
an=11+7n-7
10
a. =4+7n
11
<| [>]
11
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finding a

given that a.=11+(n—1)(7)
a,,=11+(100—1)(7)
=704

100

finding a given that a. =4+7n
a,4y=4+(7)(100)

=704

100
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now you CAN write an
arithmetic sequence as a
recursive sequence, but
arithmetic Is easier!

a, =11

a .. =a t/

3-19-17 ES solutions sequence 1.tns

3 of 10



Problem 2

{729,243,81,27 } Including the next three terms  {729,243.812793,1 } |®/Aseq_1 By
243 1 81 1 27 1 =
Note: —— = — —_— = —_—=—
729 3 243 3 81 3 | 729
This means that this sequence can be written as a geometric sequence > 243
1 : —
r=— a,=729  Geometric Sequence a. =g, "1 3 81
3
1 n—1 - 27
=729- |—
(3) °
Explicit Form of this Sequence 6
an=729- (—)
3 8
_1\n1 9
an — 6'(3 1)
10
: 11
—nt+ n o
= - .
3 21873 o -
Al|729
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n—1

3
1 9_1

3
1)8
3
729 1

6561 O

finding a, given that an=729

a,=/29

=729
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now you CAN write an geometric
sequence as a recursive sequence,
but geometic Is easier!

a, =729

1
:—an

an+ 1 3
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Problem 3

11 1 -
3°9°27 81
111 -1 1 -1 1 }

Including the next three terms  { —— — —, ; ;
3 9 27 81 243 729 2187

-1 1 -1
9 -1 27 -1 81 -1
Note: — = — R == —_
1 3 -1 3 1 3
3 9 27
This means that this sequence can be written as a geometric sequence
-1 1 : _
r=-— a,=—  Geometric Sequencea.=a:* Pl
3 3
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® A seq_1 B
1 1/3
2 -1/9
3 1/27
- -1/81
5
6
7
8
9
10
"
<| 5]
1
Al|—
3
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1
given that an=—

° 3

finding a,
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now you CAN write an geometric
sequence as a recursive sequence,
but geometic Is easier!
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Problem 4

.
{7,9,12,1621 } Includingthe nextthreeterms {7,9,12,16,21,27,34,42 } €D g
12 4 16 21 -
Note: = = — — — — — — — -
9 3 12 16 1
Note: 9—7 = 2 12-9=3 16-12=4 21-16 =5
So this does not have a common ratio or a common difference -
This means that this sequence cannot be written as a geometric or an arithmetic sequence 3
So we must write a differenttype of sequence, recursive sequence 4
a,=7 5
a., =ntl+a_(this means add the number of term plus 1 to the previous term) -
7
Yy B C D E F gl 8
— 9
1 al a2 a3 a4 a5 10
2h_ 12 16 21 11
_ _ _
| —F)
A =dl+¢.
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